
Mayer/Wassermann 0

Zeh/Sinner 0

Teilnehmer 1: Mayer/Wassermann

Mayer/Wassermann 6 6 2 Teilnehmer 2: Zeh/Sinner

Maucher/Kerscher 1 1 0

Maucher/Kerscher 6 6 2 Teilnehmer 3: Maucher/Kerscher

Hermann/Kaltbrunner 3 0 0

Teilnehmer 4: Hermann/Kaltbrunner

Mayer/Wassermann 6 6 2

Konrad/Karrer 4 2 0 Teilnehmer 5: Konrad/Karrer

Konrad/Karrer 6 6 2 Teilnehmer 6: Stiegler/Brugger

Stiegler/Brugger 2 2 0

Konrad/Karrer 0 Teilnehmer 7: Stanzel/Pettersch

Bursy/Eberle 0

Teilnehmer 8: Bursy/Eberle

Stanzel/Pettersch 4 4 0

Bursy/Eberle 6 6 2
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KO - Turnier  
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